MEDICAL PHYSIOLOGY 2016 FQE                         
1. The principal role of the heart as a component of the cardiovascular system is to 

a) Store excess blood.

b) Regulate the amount of blood flowing to different parts of the body.

c) Generate the force required to keep blood flowing in the blood vessels.

d) To pump blood into the lungs for oxygenation.

2. Complete the following haemodynamic equation:

Blood Pressure =....................... x Heart Rate x Peripheral Resistance.

a) Cardiac output

b) Vital capacity.

c) Stroke volume.

d) Venous return

3. Which of the following is a correct order of blood flow through the heart?

1. Right atrium.      2.Left atrium             3.Right ventricle         4.Left ventricle  

5. Vena cava           6.Pulmonary artery        7.Pulmonary vein     8.Aorta 

a) 5, 1, 3, 6, 7, 2, 4, 8

b) 5, 1, 2, 3, 4, 6, 7, 8

c) 5, 1, 2, 4, 3, 7, 6, 8

d) 5, 1, 3, 6, 4, 2, 7, 8

4. Which of the following is not a function of the gonads?

a) Production of gametes.

b) Secretion of gonadol hormones.

c) Excretion of metabolic wastes.

d) Protection of gametes.

5. A patient who is observed to have mental and physical slowness as well as intolerance to cold  could most probably be suffering from a disorder in the

a) Pancreas.

b) Thyroid gland.

c) Adrenal cortex.

d) Parathyroid glands.

6. Hormones are known to be secreted in an intermittent and pulsatile manner so that their concentrations in the circulation have periods of peaks followed by troughs. Which of the following is not a beneficial effect of this intermittent, pulsatile secretion of hormones?
a) It prevents desensitization

b) It prevents down-regulation

c) It prevents a decrease in hormone half life.

d) It prevents tissue hypertrophy and gland-tumour formation.

7. What is the physiologic significance of the binding of molecules of chemical substances such as drugs and hormones to plasma proteins?
a) It ensures equal distribution of the substances.

b) It confers a longer T½ for the substances.

c) It confers shorter T½ for the substances

d) Both a and b are correct

e) Both a and c are correct
8. Which portion of the uterus sloughs off to become menstrual fluid if fertilization fails?

a) Stratum functionale.

b) Endometrium.
c) Stratum basale.
d) Myometrium.
9. What is the physiologic benefit of the entero-hepatic circulation?
a) Excretion of toxic substances.

b) Neutralization and inactivation of enzymes.

c) Inhibition of unwanted processes in the intestinal lumen.
d) Recycling of substances required by hepatocytes as raw material.

10. Which of these glands in the stomach is correctly paired with its secretory product?

a) Goblet cells:…….  Pepsinogen. 

b) Parietal cells: …….  Hydrochloric acid and intrinsic factor

c) G cells: ……. Mucus and bicarbonate ions.

d) Chief cells: ……. Somatostatin.

11. If an individual is diagnosed with gastric ulcers that have extensively damaged the mucosal layer of the stomach, that patient will have malabsorption of

a) Vitamin B1 

b) Vitamin B2 

c) Vitamin B12 

d) Folic acid                                    

12. Under normal circumstances,  lactation is not possible during pregnancy because

a) Prolactin exerts a negative feedback control on mammary glands.

b) Lactation is inhibited by high level of relaxin.

c) The high level of circulating progesterone inhibits the activity of prolactin.

d) The breasts have not developed the specific plasma membrane receptor proteins.

13. Which of the following vitamins does not bind intracellular receptor proteins so as to produce its physiologic effects?

a) Vitamin A

b) Vitamin D

c) Vitamin K.

d) Vitamin B1.

14. Which of these arrangements represents the correct order in which the gastrointestinal system functions?

a) Motility →Secretion →Digestion →Absorption →Excretion.

b) Secretion →Digestion →Absorption → Motility →Excretion.

c) Digestion →Absorption → Motility →Secretion →Excretion.

d) Absorption → Motility →Secretion →Digestion →Excretion.

15. Why should raised protein in a sample of urine signify presence of a renal disease such as glomerulonephritis?

a) Normal urine does not contain any protein.

b) Protein is not filtered at the glomerulus of a normal kidney.

c) It is only the retention of proteins that is disrupted by renal disease.

d) Pretein is filtered at the glomerulus in large amounts then it is all reabsorbed.

16. Which of the following is not a function of the liver?

a) Production and secretion of bile.

b) Detoxification of blood and mediation of immunity.

c) Metabolism of ingested compounds and storage of glucose.

d) Storage of plasma proteins and metabolism of vitamin D.

17. According to the gastroileal reflex 

a) Over-distension of one segment of the intestine causes relaxation throughout the rest of the intestine

b) Over-distension of one segment of the intestine causes contraction throughout the rest of the intestine

c) Distension of the ileum causes a decrease in gastric motility

d) Increased gastric activity causes increased movement of chyme through the ileocaecal sphincter.

18. What is the physiologic importance of the strong, thick muscular wall of arteries?
a) It prevents vascular elasticity

b) It prevents rupture of the arteries 

c) It prevents intravascular coagulation

d) It enables blood to flow in the vessels at a high velocity.

19. At which phase of the cardiac cycle does the myocardium receive its blood supply?

a) During atrial systole.

b) At ventricular systole.

c) During diastole.
d) At about the same time with the first heart sound.

20. On a hot sunny afternoon, you walk into a burns unit and find a 26-year-old female covered with a cradle and a bed sheet with two cellulose blankets. You uncover her in order to examine and treat. Clinical assessment leads you to arrive at a diagnosis of 68% second degree burns. Before you embark on treatment she complains about feeling cold and asks you to cover her. What is the probable physiological explanation of her feeling cold?

a) She is approaching hypovolemic shock owing to burns-associated excessive fluid loss.

b)  The skin has lost its thermoregulatory ability following the extensive damage.

c) The skin’s insulating function has been lost with damage to the adipose tissue.

d)  The blood cannot warm her body because of reduced circulation resulting from plasma volume and increased blood viscosity. 

21. Six children aged under-5 years are admitted in a paediatrics ward with a diagnosis of marasmic-kwashiokor. The first time you meet them, you observe that all the six have bilateral pitting pedal oedema which is persistent even when the limbs are elevated. The nutritionist starts them on a high protein diet and a review one month later shows the oedema to have subsided greatly in all of them. How did the high protein diet help in managing the oedema?

a. The diet made them strong, then they played around actively thus draining away excess fluid.

b. The replaced protein increased plasma protein osmotic pressure which then drew tissue fluid back into blood vessels.

c.  It induced excretion of excess tissue fluid in urine.

d. It replaced lost proteins which then induced more fluid uptake into body cells. 

22. Apart from the standard pharmacological treatment, management of Pulmonary tuberculosis and AIDS requires feeding the patients on plumpy nuts, milk, eggs, fish, meat, termites, beans and even meat and chicken if they can afford. What role do these foods play in the management of these diseases?

e. They are very appetizing and thus encourage the patients to eat even if they have lost appetite.

f. They accelerate the interactions of drugs with the body thus speeding up the response and outcomes of pharmacological treatment.

g. They replace lost body protein and help build body tissues like muscles thereby reversing the emaciation.

h. The foods provide proteins necessary to fight the microorganisms that cause these diseases. 
23. Apart from puffy facies, patients with end-stage renal failure usually present with severe anaemia that is characterized with effort dyspnoea. What is the physiological explanation for this type of anaemia? 

a) In renal failure renal tissues, which secrete the hormone that stimulates erythropoiesis, also get damaged.

b) Renal failure also impairs the production of the hormone testosterone, which stimulates maturation of erythrocytes.

c) Renal failure leads to massive destruction of erythrocytes in the kidneys.

d) Renal failure leads to loss of large amounts of erythrocytes in urine.

Match the numbered concepts of physiology in column A with the letters corresponding to the appropriate responses in column B.

	
	COLUMN A
	
	
COLUMN B


	24. 
	Vasopressin C
	
	A. 
	Tachycardia, weight loss and intolerance to heat.

	25. 
	Brush border E
	
	B. 
	Preservation of the human race from generation to generation.

	26. 
	Hyperthyroidism A
	
	C. 
	Increased plasma osmolality.

	27. 
	Meiosis B.
	
	D. 
	Physiological balance between intravascular haemmorhage and thrombosis. 

	28. 
	Haemostasis D
	
	E. 
	Reabsorption of glucose in the proximal convoluted tubule.


29. An organ X, is known to serve all of the following functions in the body: hormone synthesis, protection, storage of excess blood, regulation, irritability or communication. What is the most likely identity of organ X?

a) Liver.

b) Spleen.

c) Skin.

d) Kidney

30. The ear ossicles respond only to sound energy, while taste buds are stimulated by taste. None can be stimulated by stimulus that normally produces a receptor potential in the other. These examples confirm the fact that each sensory receptor has its

a) Threshold of stimulization

b) Adequate stimulus

c) Specific connection to a sensory neuron

d) Reciprocal innervations

31. A Tuktuk driver lies in the male surgical ward with Brown-Sequard syndrome after being stabbed on the right side of the base of his neck by three passengers he was carrying. Despite the evident neurological deficit, the patient believes that he is weak because he bled a lot through the wound.  Physical examination reveals a deep cut that is about 5 cm wide with a thick dark-brown blood clot covering the wound. By which mechanism of coagulation did the blood clot form to stop the bleeding?

a) Intrinsic pathway.

b) Extrinsic pathway.

c) The final common pathway.

d) Thrombosis.

32.  Every homeostasis system has receptors, a control unit and an effector. Disease can arise owing to defects in any of these three components. Where does the defect lie, in people suffering from insulin-dependent diabetes mellitus?

a) The receptors.

b) The control unit.

c) The effector.

d) All of the above.

